ILRREVORERNIREE

BA{if -ha, t
X5 FERR2045F ERR214 MERR224F T RR 234 YRR 245 YRR 254
M4 |1EmE NEE [EEE WEE [AEE IEE |FHEE NEE [EmEE| WEE |FAEE IEE
7K 1,470 7,940 1,460 7,630 1,460 7,640 1,460 7,690 1,420 7,620 1,420 7,800
= 36 38 42 42 16 7 12 11 12 12 6 4
== 11 12 12 4 X X X X X X X X
ZzIX — — 12 4 37 4 20 13 18 20 16 16
Hi-1a — — 12 4 — — — — — — — —
X5 TR 264F ER2745 R 284 T RE294E
M4 {EmiE NEE [EAEE NEE |EMEE IEE |EEFEE] NEE
JKFE 1,390 7,680 1,310 6,760 1,310 6,850 1,280 6,710
K= 5 2 4 1 3 1 3 1
= X X X X X X X X
ZzIX 19 11 14 8 15 10 15 6
TE1=13 — — — — — — — —

X EREtRE

61




